
Thank you for purchasing our corbels. Please take the time to mount them properly.
They will provide many years of dependable use.

Complete Instructions

Remove the corbel from the mounting plate. This is achieved by holding the mounting plate firmly in the palm of your 
hand and pushing the corbel portion upwards with the other hand while looking at the back of the mounting plate. You 
will notice that each corbel and mounting plate have corresponding numbers. We have fine-tuned the screw projection 

so these work best paired up.

1. Examine your wall space and determine if you will be mounting to wooden studs, cabinetry, drywall only or a 
combination of each.

2. Attach the mounting plates to wall with the appropriate hardware. Check for level.

• IF mounting to a wooden stud or cabinetry: Attach the mounting plates with the 2 1⁄2” wood screws and the 
washers. Do this by pre-drilling (piloting) into the stud with your 3/16” drill bit. In some cases our screws may 
be too long. Sorry, you will have to cut them down or replace them with shorter ones.

• IF mounting to drywall ONLY (Toggler™ Kit Required): Follow the illustrations below.

3. Hook the corbel onto the mounting plate and tap with your palm until they feel snug. The corbel portion should 
come to rest approximately 1/16” higher than the mounting plate.

4. Finally, place shelf or countertop on top of corbels.  Pre-drill (pilot) screw holes with your 3/32” drill bit.  Be careful 
not to drill through your shelf or countertop.  Then use the 1¼” screws provided to attach the corbels.  Disregard the 
screws if your countertop is solid stone and ask your countertop installer for the proper adhesive.

Questions?
See the FAQ section at TylerMorrisWoodworking.com

or call us at 866.493.0879 or Tyler’s cell 970.690.0503 anytime

Tools Required:
#2 & #3 Phillips Head Screwdriver

Level
Drill

3/32” Drill Bit
3/16” Drill Bit

Parts Included:
Corbel with Mounting Plate

2 1/2” Long Wood Screws (for wood 
stud or cabinetry installation)

1 1/4” Flat Head Screws
1/4” Washers

Toggler™ Drywall Anchors (if requested)
2” Machine Screws (if requested)

Drill the 1⁄2” hole. Hold Metal 
channel flat alongside plastic 

straps and slide channel through 
hole.

With one hand, pull plastic straps 
so metal channel rests flush 

behind wall, as you slide plastic 
cap with the other hand until 

flange of cap is flush with wall.

Place your thumb between 
plastic straps. Push side to side 
snapping off straps at wall. You 
are now ready to insert the 2” 
machine screws with washers 

through the mounting plate and 
into the anchor.


